
 

Report of Quiz 2 
 

1. Summary 
 

 Number of Students 

Total 136 

Attended 123 

Missed 13 

Makeup 0 

 

 

 

 

 

24 

37 

14 

35 

6 7 

0

20

40

60

80

100

0-5 6 7 8 9 10

Quiz 2 
Average = 6.6 
Stdev = 1.9 

1 
 



 

 

2. Comments 
1) Students used the moment of inertia equation as their equation for location of 

the hydrostatic force. 

2) Students did not evaluate yr from the surface and left it as 2.5 ft when it should 

have been (h - 2.5 ft). 

3) Students used yr in the hydrostatic force equation instead of hc. 
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